
ATTI ACCADEMIA NAZIONALE DEI LINCEI
CLASSE SCIENZE FISICHE MATEMATICHE NATURALI
RENDICONTI

REKHA PANDA

A note on certain results involving the polynomials
 $L_n^{(\alpha,\beta)}(x)$

*Atti della Accademia Nazionale dei Lincei. Classe di Scienze Fisiche,
Matematiche e Naturali. Rendiconti, Serie 8, Vol. 63 (1977), n.5, p. 324–327.*

Accademia Nazionale dei Lincei

<http://www.bdim.eu/item?id=RLINA_1977_8_63_5_324_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

*Articolo digitalizzato nel quadro del programma
bdim (Biblioteca Digitale Italiana di Matematica)
SIMAI & UMI*

<http://www.bdim.eu/>

Funzioni speciali. — *A note on certain results involving the polynomials $L_n^{(\alpha, \beta)}(x)$.* Nota di REKHA PANDA, presentata (*) dal Socio G. SANSONE.

RIASSUNTO. — In questa Nota si estendono alcuni recenti risultati di T. R. Prabhakar-Suman Rekha relativi ai polinomi di Konhauser $L_n^{(\alpha, \beta)}(x)$.

1. INTRODUCTION

In their recent paper Rekha and Prabhakar [4] proved the following result:

$$(1.1) \quad \sum_{n=0}^{\infty} \frac{(\lambda)_n}{(\mu+1)_n \Gamma(\alpha n + \beta + 1)} L_n^{(\alpha, \beta)}(x) {}_1F_1[\mu - \lambda + 1; \mu + n + 1; t] t^n \\ = \frac{\Gamma(\mu+1)}{\Gamma(\lambda)} e^t {}_1F_2^*[(\lambda, 1); (\beta+1, \alpha), (\mu+1, 1); -xt],$$

where $L_n^{(\alpha, \beta)}(x)$ is the generalized Konhauser polynomial defined by (see also [2] and [5])

$$(1.2) \quad L_n^{(\alpha, \beta)}(x) = \frac{\Gamma(\alpha n + \beta + 1)}{n!} \sum_{k=0}^n \frac{(-n)_k x^k}{k! \Gamma(\alpha k + \beta + 1)}, \quad \operatorname{Re}(\beta) > -1,$$

α is any complex number with $\operatorname{Re}(\alpha) > 0$, and ${}_pF_q^*[z]$ is Wright's generalized hypergeometric function (cf. [6])

$$(1.3) \quad {}_pF_q^* \left[\begin{matrix} (a_1, \alpha_1), \dots, (a_p, \alpha_p); \\ (b_1, \beta_1), \dots, (b_q, \beta_q); \end{matrix} \right] z = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p \Gamma(a_j + \alpha_j n)}{\prod_{j=1}^q \Gamma(b_j + \beta_j n)} \frac{z^n}{n!}.$$

Formula (1.1) and its hitherto known special cases were proved by applying certain differential operators including, for instance, the *fractional* derivative operator D_{ω}^{λ} defined by

$$(1.4) \quad D_{\omega}^{\lambda} \{\omega^{\mu-1}\} = \frac{\Gamma(\mu)}{\Gamma(\mu-\lambda)} \omega^{\mu-\lambda-1}, \quad \lambda \neq \mu.$$

(*) Nella seduta del 18 novembre 1977.

In this paper we first present an elementary derivation of the following generalization of (1.1):

$$(1.5) \quad \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (\lambda_j)_n}{\Gamma(\alpha n + \beta + 1) \prod_{j=1}^q (\mu_j)_n} L_n^{(\alpha, \beta)}(x) {}_pF_q \left[\begin{matrix} \lambda_1 + n, \dots, \lambda_p + n; \\ \mu_1 + n, \dots, \mu_q + n; \end{matrix} -t \right] t^n$$

$$= \frac{\prod_{j=1}^q \Gamma(\mu_j)}{\prod_{j=1}^p \Gamma(\lambda_j)} {}_pF_{q+1}^* \left[\begin{matrix} (\lambda_1, 1), \dots, (\lambda_p, 1); \\ (\beta + 1, \alpha), (\mu_1, 1), \dots, (\mu_q, 1); \end{matrix} -xt \right],$$

where, for convergence, $p \leq q$ and $|t| < \infty$, or $p = q + 1$ and $|t| < 1$.

Evidently, in view of the familiar Kummer's theorem [3, p. 125, Theorem 42]

$$(1.6) \quad {}_1F_1[a; b; z] = e^z {}_1F_1[b - a; b; -z],$$

the special case $p = q = 1$ of (1.5) is essentially the same as the Rekha-Pra-bhakar formula (1.1).

2. PROOF OF THE GENERAL RESULT (1.5)

Denoting the first member of (1.5) by $\Delta(x, t)$, if we replace the hypergeometric ${}_pF_q[-t]$ function by its series expansion and collect the powers of t in the resulting double summation, we shall obtain

$$(2.1) \quad \Delta(x, t) = \sum_{m=0}^{\infty} \frac{\prod_{j=1}^p (\lambda_j)_m}{\prod_{j=1}^q (\mu_j)_m} \frac{(-t)^m}{m!} \sum_{n=0}^m \frac{(-m)_n}{\Gamma(\alpha n + \beta + 1)} L_n^{(\alpha, \beta)}(x).$$

By using the definition (1.2), the inner sum in (2.1) can be written in the form

$$\sum_{n=0}^m \frac{(-m)_n}{\Gamma(\alpha n + \beta + 1)} L_n^{(\alpha, \beta)}(x) = m! \sum_{n=0}^m \sum_{k=0}^n \frac{(-1)^{n+k} x^k}{(m-n)! (n-k)! k! \Gamma(\alpha k + \beta + 1)}$$

$$= m! \sum_{k=0}^m \frac{x^k}{k! (m-k)! \Gamma(\alpha k + \beta + 1)} \sum_{n=0}^{m-k} (-1)^n \binom{m-k}{n},$$

and since it is easily verified that

$$(2.2) \quad \sum_{n=0}^N (-1)^n \binom{N}{n} = \begin{cases} 1, & \text{if } N = 0, \\ 0, & \text{if } N \geq 1, \end{cases}$$

we at once have

$$(2.3) \quad \sum_{n=0}^m \frac{(-m)_n}{\Gamma(\alpha n + \beta + 1)} L_n^{(\alpha, \beta)}(x) = \frac{x^m}{\Gamma(\alpha m + \beta + 1)}, \quad \forall m \in \{0, 1, 2, \dots\}.$$

Now substitute from (2.3) into the right-hand side of (2.1) and interpret the resulting sum by means of (1.3). Thus we arrive at the desired result (1.5) under the conditions stated already.

3. FURTHER GENERALIZATIONS

In order to give a further generalization of our result (1.5), we introduce a general set of polynomials $R_n(x)$ defined by

$$(3.1) \quad R_n(x) = \sum_{k=0}^n \frac{(-n)_k}{k!} c_k x^k, \quad c_k \neq 0,$$

where $\{c_n\}$ is a sequence of arbitrary complex numbers. Then, as a generalization of (2.3), we have

$$(3.2) \quad \sum_{n=0}^m \frac{(-m)_n}{n!} R_n(x) = c_m x^m, \quad \forall m \in \{0, 1, 2, \dots\},$$

and by applying the proof of (1.5) *mutatis mutandis* we are led to our main result contained in the following

THEOREM. *Corresponding to a given sequence $\{\gamma_n\}$, let*

$$(3.3) \quad \Omega_n(t) = \sum_{r=0}^{\infty} \frac{\gamma_{n+r} t^r}{r!}, \quad |t| < T_0.$$

Also let the polynomials $R_n(x)$ be defined by (3.1).

Then

$$(3.4) \quad \sum_{n=0}^{\infty} R_n(x) \Omega_n(-t) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \frac{c_n \gamma_n (-xt)^n}{n!},$$

provided that each side has a meaning.

For $c_n = 1/\Gamma(\alpha n + \beta + 1)$, $n \geq 0$, (1.2) and (3.1) evidently yield the relationship

$$(3.5) \quad R_n(x) = \frac{n!}{\Gamma(\alpha n + \beta + 1)} L_n^{(\alpha, \beta)}(x),$$

and, in view of (3.3), the general formula (3.4) would reduce to our earlier

result (1.5) if we further let

$$(3.6) \quad \gamma_n = \frac{\prod_{j=1}^p (\lambda_j)_n}{\prod_{j=1}^q (\mu_j)_n}, \quad \forall n \in \{0, 1, 2, \dots\}.$$

Yet another interesting special case of (3.4) is the known result [1, p. 134, Eq. (4.9)], which would follow if we set

$$(3.7) \quad c_n = \frac{\prod_{j=1}^{p-1} (\alpha_j)_n}{(\alpha + 1)_n \prod_{j=1}^{q-1} (\beta_j)_n}, \quad \gamma_n = \frac{(\beta + m + 1)_n}{(\beta + 1)_n},$$

$$\forall m, n \in \{0, 1, 2, \dots\},$$

and apply Kummer's theorem (1.6) to express the *special* $\Omega_n(-t)$ as a Laguerre polynomial given by

$$(3.8) \quad L_m^{(\alpha)}(t) = \binom{\alpha + m}{m} {}_1F_1[-m; \alpha + 1; t],$$

or equivalently,

$$(3.9) \quad L_m^{(\alpha)}(t) = \binom{\alpha + m}{m} e^t {}_1F_1[\alpha + m + 1; \alpha + 1; -t].$$

Finally, we remark that (by appropriately specializing the sequence $\{\gamma_n\}$ and using the definition (1.3) above) we can easily apply our result (3.4) to deduce an interesting extension of (1.5) involving Wright's generalized hypergeometric functions on *both* sides.

REFERENCES

- [1] W. A. AL-SALAM (1964) - *Operational representations for the Laguerre and other polynomials*, «Duke Math. J.», 31, 127-142.
- [2] JOSEPH D. E. KONHAUSER (1967) - *Biorthogonal polynomials suggested by the Laguerre polynomials*, «Pacific J. Math.», 21, 303-314.
- [3] EARL D. RAINVILLE (1971) - «Special Functions», Macmillan, New York, 1960; Reprinted by Chelsea, Bronx, New York.
- [4] SUMAN REKHA and T. R. PRABHAKAR - *Some results on the polynomials $L_n^{\alpha, \beta}(x)$* , «Rocky Mountain J. Math.» (to appear).
- [5] H. M. SRIVASTAVA (1973) - *On the Konhauser sets of biorthogonal polynomials suggested by the Laguerre polynomials*, «Pacific J. Math.», 49, 489-492.
- [6] E. M. WRIGHT (1935 and 1940) - *The asymptotic expansion of the generalized hypergeometric function. I and II*, «J. London Math. Soc.», 10, 286-293; «Proc. London Math. Soc. (2)», 46, 389-408.